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12 10 5 600
30 X

(A)10x + 5(x + 30) = 600
(B)10x + 5(x - 30) =600
(C)5x + 10( x + 30) =600
(D)5x + 10(x - 30) =600




13 480
20 16

(A)(20+2x)(16+ 2x) =480

(B)(20+ x)(16 + x) =480

(C)2(16x + 20x) =480- 20" 16

(D)2(20+ 2x) + 2(16+ 2x) =480- 20" 16

14 y=2x"- 4x+5

(A h=-1
(B)h=2
C) k=3
(D) k=4
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(A)DABC @DCDA

B)DBAD=DDCB

(C)AB=CD

(D) AC = BD
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(A)S5x- 2y=0
B)x- y=3
(C)x-5=0
(D)x+2=0
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17 ~ 18
f(x)=22x°- 9x- 1

17 f(x)
(A)22x-1

B)1l1x+1

(C)11x- 1

(D)2x+1

18 a=22"88-9 8-1 a
(A)17
(B)87
(©)89
(D)175

19 AB B C D PABD=
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(B)55°
(C) 40°
(D) 35°

20 170

A)165 £ <175
B)165 < £ 175
01695 £ <1705
D)1695 < £ 1705
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5 80

(A)a=3
B)a=4
(©)3<a<4
(D)4d< a<hb

22 DABC AB AC

L, AB L, DBAC

L L, P L,

(A) PA= PB
(B) PB= PC
(C)PA= PC
(D) BQ=QC
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(D) 1052
25 c 2X°- x-1=x°+4x-5
(2x+1)(x- ) =(x+5)(x- 1)

(x-1) : 2x+1=x+5

1 2x=x+4

X :x=4

. x=1 2x°- x-1=x"+4x-5
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26 AB CD P DAPD DCPB
AP=x-1 CP=x-2 BC=x+1 AD=2x+4 A€
X= ‘\
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